Ubersetzung des Keilschrifttextes 141B
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[.... the moon stood ....] behind Mercury [to the east ....]

[....] low to the south. The 4th, equinox; I did not watch [....] .... [....]

{.... x]+1 cubits. Night of the 8th, beginning of the night, the moon was 1 cubit in front of
o Leonis, the moon being 4 fingers |....]

[.... Night of the 10th, beginning of the night, the moon was] % cubit [above] f§ Virginis,
the moon having passed a little to the east, [it stood] 2+[x cubits] behind Saturn [to the
east ....] _

[-... Mercu]ry was 2fs cubit below 1 Tauri. The 12th, moonset to sunrise: 2°. Around the
12th, Jupiter’s acronychal rising [....]

[....] sunset to moonrise: [nn°], measured (despite) clouds. Night of the 15th, last part of
the night, the moon was 4 cubits above a. Scorpii [....]

[.... Saturn] became stationary [....] behind ¢ Leonis. Ni[ght ....]

[....] Jupiter was in Libra; Venus, in the beginning of the month, was in Aquafrius ....]

L] e [od]



